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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Figures to the right indicate marks.

1 (@) Explain time reversal and factor reversal test.

Test whether Fisher's index number satisfies both the

test.
(b) For the given data find Laspeyre, Paasche,

Fisher and Marshal - Edgeworth's index numbers :

Commodity Base Year Current Year
Price Expenditure| Price Expenditure
A 60 6000 70 7350
D 40 3400 50 4750
dJ 38 646 96 3264
0 10 150 10 150
S 118 14986 120 15600
OR

1 (@) Explain in detail cost of living index number

and its construction.

10

10

10
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(b) For a person monthly income is Rs. 1750 and 10

spends Rs. 1750 in a month. The cost of living index

number for certain months is 136. For the given data

find House rent and Clothes expenditure.

Group Food | Clothes | House rent | Fuel | Miscellaneous
Expenditure (Rs.) | 700 - - 180 315
Index number 180 150 100 110 80
2 (a) Explain the components of Time-series. 10
() Fit quadratic equation to the following time-series 10

data. Also estimate the value for the year 2017 :

Year |2011 2012|2013 {2014 | 2015
Value | 7 9 10 13 18
OR
2 (a) Explain moving average method. 5
(b) Explain method of finding Seasonal Index number. 5
(©0 For the given data fit a straight line : 5
Year | 2008 | 2009 | 2010 | 2011 | 2012
Value | 35 56 79 80 40
(d Find seasonal index number : 5
Year
1991 | 1992 1993 1994 | 1995
I 40 45 42 55 60
11 50 55 60 55 70
111 35 35 40 70 45
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(b)
3 (a)
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(b)

Explain Population and Sample. Explain difference 7

between population inquiry and sample inquiry.

6 observations of a population are divided in two

strata. The observation of first strata are 7, 9, 5 and

the observation of second strata are 4, 6, 8. For sample

size 2 from each sample one unit is selected. Find

variance of stratified sample mean.

OR

Explain simple random sampling method and

stratified random sampling method.

For a population observations are 1, 5, 9, 11 and

14. How many random samples can be obtained of size

3 without replacement ? Prove that sample mean is an

unbiased estimator of population mean. Also find variance

of sample mean.

What is Association of attributes ? Discuss the types

of association of attributes.

Find the association between marital status and

success at examination for both, boys and girls :

Boys Girls
No. of candidates 1000 400
Married candidates 350 250
Married and successful
candidates 270 220
Unmarried and successful
candidates 550 120

OR
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4 (a) Explain the meaning of linear programming. 7

State the assumptions of linear programming.

(b) Maximize the objective function Z =20x+30y by 8

graphical method with following constraints :

x+y<12
Sx+2y<50
x+3y <30
x,y20
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